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QUESTION 1

What are two recommended approaches to SOA adoption?

A. SOA adoption involves incremental change.

B. Select a business pilot and enable a line of business.

C. SOA adoption involves a complete and immediate change.

D. The transition to SOA begins with the selection of appropriate technology.

E. The first steps in the journey to SOA implementation depends on the company\\'s industry.

Correct Answer: AB

QUESTION 2

What can have the largest impact on the performance of an SOA?
A. Service granularity

B. Use of open standards

C. Service version management

D. Business monitoring of Key Performance Indicators (KPIs)

Correct Answer: A

QUESTION 3

What demonstrates one of the key principles communicated by the IBM SOA Reference

Architecture?

A. Business processes can be modeled in parallel with the services they rely on.

B. Services are implemented using the Enterprise Service Bus (ESB) and exposed to service consumers.

C. Business process developers need to communicate effectively with Enterprise Service Bus (ESB) developers.

D. Changes in service implementations require changes in the service interface which should be reflected in the service
registry.

Correct Answer: A

QUESTION 4
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Which activity is required to successfully implement SOA governance?

A. Establish a service repository.

B. Acquire ongoing sponsorship by executives with active communication.

C. Formulate, control and oversee the proper maintenance and growth of business assets.

D. Define a set of processes, rules and policies that affect the way a corporation is directed, administered or controlled.

Correct Answer: B

QUESTION 5

Why is reusability an important aspect to promoting agility in SOA?

A. Services often represent functions in an SOA.

B. Existing applications may serve as the basis for service interfaces.

C. The interface of a service allows it to be integrated into additional processes without changes.

D. Service interface details may be defined at a high level according to anticipated business requirements.

Correct Answer: C
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